g blank pages.

, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin,

50, will be treated as malpractice.

2. Any revealing of identification
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Note: Answer any FIVE full questzons, choosing ONE full questwn from each module.
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Intelllgence‘,‘
l\g;ax. Marks: 100

Egg

What do you mean by an Amﬁclal/lntelhgence techniques? §“

. (05 Marks)
Demonstrate the turing test with example. (07 Marks)
Write short notes on problem area in Artificial Intelligcx‘%cei*” (08 Marks)
OR ~ Ny
Solve the cryptoarithemetic problem given below with-proper steps.
POINT»
N ENERGY (05 Marks)
Explain the four categories of production systems with an example for each. (07 Marks)
Explain the decomposable and non-decomposable problemwith an example. (08 Marks)
..Module-2 '
Differentiate between forward reasomng and backward reasoning. (05 Marks)
Explain the convert to clause form algorithm w1th an‘example. S (07 Marks)
Consider the following sentences: :
e  John likes all kmds {1
e Apples are food. *
e Chicken is food: :
e Anythingiany one eats and is not k led by is food.
e Bill eats peériuts and still ahve ' .
e S
i) ert these into predlcatc logic.
(i1)) —Prove that “John lik {vea'nuts using back chammg (08 Marks)
‘Write the four propertlcs of knowledge reprcsy, (05 Marks)
Discuss various issues in knowledge representatlon (07 Marks)

Consider the followmg facts:
Marcus was a man.
Marcuswas a Pompeian.
All pompeians were Romans.

Caeser was a ruler.

All romans were either loyal to caeser or hated him.

Everyone loyal to someone.

People only try to assassinate rulers they are not loyal to.
Marcus try to assassinate ceaser.

(1) Prove that marcus is not loyal to ceaser by backward substitution.

(if) Represent the above statements using instance relationship and ISA relationship.
(08 Marks)
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Module-3
What is Non-Monotonic reasoning? (05 Marks)
Explain default reasoning and minimalist reasonin (10 Marks)
Explain closed world assumptions. (05 Marks)
W) (05 Marks)

Define the Bayes theorem.
Explain JTMS and dependency dlrected ‘oacktrackmg # (10 Marks)

Explain Bayesian networks with a (05 Marks)
Explain the steps involved in narural language processmg. . (08 Marks)
Explain the minmax search WIth an example. (08 Marks)
Write an interactive dee‘pcnmg A* algorithm. (04 Marks)
S,Vﬁ
OR
; ~ (05 Marks)
Write a short: notes‘ on Alpha-beta cutoffs.”. (08 Marks)

Derive the garse tree for the following sentence making use of appropriate grammar:
“Bill pnn:l?ed the file”. (07 Marks)

.....

What is the role of expert system and knowledge acqul itic (05 Marks)

Write a note on explanatlo based learning and explam rote learning w1th an example.
(10 Marks)

(05 Marks)

(05 Marks)
(10 Marks)
(05 Marks)

N 2 of2




